1.

Whlch one of the following is the |mportanoe
of roughage inour dtet?

: b. Al Makes tha diet balanced
B. Prevents main utrition

G Pre\_/e_nts consﬁpahon

D. Makes the meal sweet

: 'Whrch class of bwds is adapted mmm
5 shown?

A Bkrdsofprey i
B Graln plckers #s
o Honey users

'D. Wadding birds

Which one is true

- stigmas?

A. Have large pollen grains
B. Have dull petais  _

<o Have powdery pollen grains -

D. Have small po!len grains

‘One of the followmg is true about the dark,
‘grey cotoured clouds. tt is that:-
_A.Are high in the sky

B. Indicate fine weather

'C. Have aflatbase
_D.Are lowin the sky

P S

about flowers with sticky

-

The std five p ug' ils_of Kerongo gﬁrﬁﬁgr

school rried t the followin
. experiment :
Closed lid

- ‘Water

Hole

They observed that the water could p_qgﬂow
out. The m_;way to make the water flow was
o ‘ ; G
A Make thsholeaide .«

B. Turn the tintowards the hole

C. Make another hole on the top

D. Shake the water

The below experiment was conducted by
learners of Lusavasavi primary schiool. ©

Smelly smoke - : :

Source of heat- >

The class observed the smoke coming out of 3
the soil. The pupils were investigating:- =

A. Presence of water in the soil

B. Presence of air in the soil
C. Presence of humus in the soil
D. Presence of moisture in the soil

Spi
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7. Which one of the following processes are as

a result of decrease and increase in

12.  Which type of soil erosion takes place_in an -

uncovered place mostly by wind?

temperature? ; A. Gulley erosion B. Sheet erosion
Decrease Increase C. Splash erosion D. Rill erosion
A. Condensation Melting '
. B.Expansion Condensation | 13. The diagram below was set up by learners of
" C. Expansion Evaporation Womulala primary school to mvestlgate a
D. Condensation Freezing certain propertyof hght ; :
8. Omudi a Scnence teacher conducted an 3 e
experiment with his standard eight pupils of ’
Vegetse pnmary as shown below. . ;
Positio:
observed Coin
Water
The aspect of the. light that was bemg
. demonstrated was:-
A. Reflection B. Refraction
_ C. Dispersion D. How light traveis
14. An antibiotic is an example of-
: A.Painkillerdrug - B. Curative drug
~ What will happen if the water cools down? C.Preventivédrug D, Narcotic drug -
A.The balloon is deflated : ’
' B. The balloon is inflated 15.  Which ofthe below practices does not poHute 2t
58 T Dropsiofwaterwm appearinthe bottle the soil? 3
A D The baltqon wilk blow away oy 3 A. Excessive use of chemxcals
Hid B. Burrying plastics into the soil
9. - The heat fromi the fire reaches the hands of C. Dumping saw dust in the farm
- cooking motherby:- D. Burry polythene papers into the soil
= A.Radiation e T i A e
. BiConduction i . 7 yelow s simple
FQVCConvectnon%f : — classification of plants. o
iy« & A!ltheabove G i
SR -2 'Pl1nhﬂ
- 10, Whrch part of a femate body perfoms ther 18. SR e et
i mndmdexdmngeoffwinutnents -oxygen Flowering 5 Non-flowering
- andwater producis betweenthe motherand r—l'—, ,-_'_, Y
- thefoetus? Black jack R ‘Fom e te. o
,fB Fanoplan tube Which plants can _c_g;;g_gy_represents the
~ C.Theovary letters? ] i
LD Tbefﬁitfh'canaf- R S A
B ; A. Onion “ Toadstool
oAt ?;What r:an pw-vent a nutrmonal dzsease B. Maize Sisal -
e ker bones in children? C. Mushroom . .Cedar . S
i : - " B.Calcium D.Cactus - e e
‘:'."'-"C:,_thteinsf “.. . D.Carbohydrates St s e

s naic"-i{co:zm
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Animals
A. Sheep
B. Goat
.C.Cow

. D. Broiler -

23. Wh:ch one of the foltowlng animals is :
. correctly matched with their products? =~

Products -

wool, mution’
pork, mitk . =
beef, mutton
~meat, eggs

e Which percentage represents the component.'
; of air that i is used to preserve drinks?
“B.21%
D 0. 97%

ow i

| R B

: S V'.—-—l-annectin:g);j

: ._f D Wnnomng"'

BiBnphits
“C. Grass e N TR G e

' Whiohone'cfﬂwefoﬂo’m:;ggmupsafbﬁdé
" 'associatedw!thmefsetvmhtalm? i
| Ahicken

. “.'iimmonediﬂ't Mo
fortearing flesh? -

‘Which of the following matenals can be pboed
inthe gap. marked Ylo make the buMght?
A Glass - - -
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27.

28.

29,

30.

31.

A true statement about what will happen to the
water in the bottle as shown below when it is
warmed is that:-

Water

Stand
Source heat

A. The water will bubble then calm

B. The water level will go down before rising
C. The water will rise then fall

D. The bottle will contract and water rise

One of the following is true about pressure in
liquids. Itis that:-

A. ltincreases with the depth

B. Itis constant at all levels

C. ltincreases with the height

‘D. It differs according to temperature

Which animals belong to the amphibians
group?

A. Newts and toads

B. Lizards and snakes

C. Tortoise and turtles

D. Turtles and lobsters

The following are animals found in our
surroundings:- -

(i) Dogs (i) Termites

(iii) Snakes (iv) Cats

{v) Mosquitoes

Which group consists of dangerous animals?
A, i, iv B. ii, iii, v

C.i,iii, v D.ii, iv, v

‘The diagram below shows a lever. Which pair

of the positions labelled E, F, G , Hrepresents
the load and effort? - .

w X
A . EandF B.Fand G
C.Eand G D.EandH

32.

33.

34,

35.

36.

37.

Amudalawho is a hunter went hunting with his
dog. After a time he sat under a tree to rest.
The saliva from the dog’s mouth dropped as it
rested. The main function of the dropping
saliva was:- S

A. It allowed the dog to cool its body

- B. Itis a habit for dogs to do so after hunting
'C. ltindicated the dog was too tired

D. ltindicated the"dog had taken a lot of water

Which of the following liquids can be usedin a

maximum and minimum thermometers
respectively?

A. Mercury and alcohol

B. Spirit and mercury

C. Alcohol and mercury

D. Water and mercury

Madam Andisi a grade three teacher asked

her class to make models using soil. Which . ...
type of soil could make longest ribbons?

A. Loam soil B. Ciay soil

C. Sand soil D. Alluvial soil

Akero a pupil of Halomberu primary sc,‘ho'ol
went to Mbale county hospital. It was observed
thathe had the following signs:-

(i) Fever

(i) Coughing with blood in spatum

(iii) Felt chest pains

(iv) Pale and thin body

Akero was likely suffering from:-

A. TubercuiosisB. HIV/AIDS

C. Whooping cough D. Malaria

Which one of the following weeds has green
purple leaves?
A. Black jack

C. Wandering jew

B. Mexican marigold
D. Pig weed

The first nutritious milk taken by the young baby
immediately after birth is referred to as:-
A. Whole milk B. Colostrum milk
C. Immunity milk D. Protective milk
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38.

39.

‘40.

41,

42.

Which one of the following is __gt excreted by
the skin?

A. Urea

C. Excess water

B. Excess salt
D. Toxic substance

The part on the human breathing $¢stém that
passes the air to the lungs is:-

A.Alveolus B. Trachea
C.Aesophagus  D. Airsacs

The most convenient way of weeds control
without poliuting the soil is by:-

A. Usjng herbicides -

B. Digging them out

C. Using urea to bumn them

D. Spraying them with oil

Which of the following can be ‘used as

insulators for electricity?.
A. Plastic B. Copper
C.lron D. Zinc

Which one of the following is frus about the
energy saving jiko?

A. It cooks faster than ether jikos

B. Less fuel is used

C. Itis made from cheap material

D. ltis portable

Which group of food consists of }

carbohydrates?
A. Sugarcane, maize, beans
‘B. Beans, gggs, fish

- C.. Sugarcane, cassava, potatoes

D. Carrots, kales, fryits

Whigh part of the female reproductive system
is where fertilization takes place?

47.

43,

Which one of the following fertilizers is

' recommended to be used when planting?

A.-Urea

B. Caicium ammonium nitrate (CAN)
C. Diammonium phosphate (DAP)
D. Sulphur of ammoma 5

Children with poor eye sight can be corrected

by the person eating?
A.Carrots B. Fruits
C:Vegetables D.Cil

The diastema in the mouth of the cow helps it
to:- it
A.Tum the grass in the mouth
B. Chew the grass easily
C. Select the right feed for it
D. Ensure the cow retains its teeth

Which one of the foliowing heips the fish to
propel itself forward in water?

A. Dorsaifins

B. Powerful tail fin

C. Pectoral fins

D. Streamiined bedy

Vitamins are important to human. body
because:-
A. Repairs worn out tissues
B. Helps the body tissues to grow
€. Gives the body energy
D. Helps the body to get healed

~ Which of the folfewing bottles will produce the
highest pitch when biown over?
A B. C. D
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